FAMAT Algebra 2 J anuary Regional Individual Test

Answer "E. NOTA" means "none of the above answers are correct”

I. Determine the value of & so that | 5. Find the coefficient of the third term of
2x° ~4x +k =0 has no real roots. = the expansion of (x— 3y)S .
A k>8 ST e e A6
B. k=1 B. 10
Ck>2 - C. 54
D k<2 o D. 90
E.NOTA | E.NOTA
2. Find the value of x+y+;" for: 6. Find the value of 3x— 2.
2x-3y+4z=29 - Given the system
x+2y+3z= o R [0x-5y=9
~x+dy+2z==6 4x-y=8
A -4 A &
B.7 B. 2
C.3 S C. 2
D.5 IR - D. &
E.NOTA ' E.NOTA
3. The solution to |‘—§x+612815 o | 7. Find the value of x for 16* = §1024
A x>2-3 __ | A .g_
B.x<2lorx>3 | B. &
Cx<-3orxz221 . : o - C 3
D -3<x<21 . - ‘DS
E. NOTA - E.NOTA
4.1f log2 =a and log3 =5, find o 8 Sotveforx. ..~
log72 interms of aandd. : log, (x - 2)+lo_g4(2x—3) =2log, x
A. 3a+2b | L | - A {-1.-6}
B. 5ab e ..;f-; - Eelingnar _ B. {5}

C {16}
D. {6}
E.NOTA

C.2a+3b - . .
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9. Solve for x.
x—-1 2
3 x-2
A -1}
B. {1,-4}
C. {4}
D. {-1,4}
E.NOTA

=0

10. Find the value of k so that |

[B] is the inverse of [A].
I'——I 2} [k —2}
A= - B=
-1 1 1 -1
A -1 ‘
B.1
C.2

D. 0
E. NOTA

1L Slmphfy

log, /8 +log, 4 +8%° +log82 3log, 64

A.
B.

O ¢

P!
N‘.— Mjw Wk -

E. NOTA

12. Find the value of k sothat

[fog](x)=x for

f(x)=2x+k andg(x)—’éa +5.

A. 10
B. 3
G5
D0
. F NOTA - o

13. An aud1tor1um has 30 rows of seats.

There are 18 seats in the first row, 19

seats in the second row, 20 seats in the
third row, and so on. If 600 people come
to watch a perforinance, how many seats
will remain empty?

A. 330
B. 345
C. 360

'D. 375
E.NOTA

14. Solve over the reai numb‘ers.. .

Jix+21—x=3

A {3)

B. {-3,-10}

<
D. {-3,4}
E.NOTA

15. Find the equation of the line that
passes through the vertices of

y:
=x*=10x+27

y

x2—8x+13

Ay=x-3
B.y=5x+27
C.y=5x-23
D.y=-lx+7 -

E.NOTA

- 16. Solve. x3.4}-x2‘-1'2;€ <0

A (-0,3]
B.[0.3]

B (43)

. D.(=, 41u[o 3]
i E}NOTA
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17. Solve: 16™* = g>+
A. 28

B 12
C 13
D.19
E. NOTA

18. A company purchases a machine for
$120,000 and it depreciates at a rate of
30% per year. (In other words, at the end
of each year the depreciated value is 70%
of what it was in the beginning of the
year). Find the depreciated value of the
machine after 5 years.

A S0

B. $291.60
C.$20,16840 =~
D.$99,831.60
E. NOTA

19. Find x if o
log, (x— 3)+log4(x+3) 2

A 11

B.4

C. 16

D.5

E. NOTA
20. Which of the following is a possible
rational root of the function -
g(x)=62"+7x" +5x-15

21. Solve the equation for x.

13 6x
x—2  x+2 x—4
A -4
B -1
C =2
D. 4
E. NOTA

22 Iff(x)=x"+1and g(x)=2x-6
Find [g7o /™ ](2)
A2
B4
.
D. {
E. NOTA

23. Given that x=-3 isa rootof
x> —=5x* —7x + 51, find the sum of the’

remaining roots.
A0

B. -8
Cc.8"
E.NOTA

24.1f f(a)=—a*+2 and
h(a,b)=b*-2ab+d?,

then h(4, f(-3)) =
A.23
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25. You are considering two job offers.

Company A is offering a salary of $2
and semiannual raises of $500 while

Company B is offering $25,000 with/

7 OOO

semiannual raises of $750. In how many
years will the salary from Company A be

$2000 less than Company B? |
A4

B. 10
C.12

D16
E.NOTA

26. Find the value of k so that the sy
equations is inconsistent. .
2x+3y=6

5x—ky=8
Al

B.
c
D.
E.NOTA

Lo

TS T

15

.

stem of

27. Find the x-intercept of the line that passes
through the midpoint of the line segment with

endpoints at (4,2) and (-8,8) and is
parallel to 6x—-2y=9

28. Write the equation of a circle with the
center at (3,—2) and passing through

(13,22) in the form x* +y* +bx+cy=d
A xi+y +6x-4y=13
B xi+ ) —6x+4y=13
C.x%+y —6x+4y=663

G Doxt eyt 6x+4v 21

'E. NOTA | R

[_ﬁ

29 If3iisarootof |
3 +13x7 +27x + 36 anotherroot is:

9+4/10

A.

7
. -3-i/10 |
D 347
E.NOTA =
: —x+5;.£>3
30. f(x)=410  ;x=3
et 'x<3

Find f(3)+2f(5) f(—4) |
| A-16

B.26
C.19
D.36
- E.NOTA






